C:h Applying the Law of Cosines

Name:

Usethelaw of Cosinesto find the point B'sanglerelativeto point A.

1) A 2) A
2.6
%672 ,
_ -7 > ‘I >
A(0,0) A(0,0)
3) A 4) A
// B,//
26,10 RACED)
& > . >
A(0,0) A(0,0)

Answers
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Applying the Law of Cosines Name:

Answer Key

Usethelaw of Cosinesto find the point B'sanglerelative to point A.

l) A

- %6 ,’ég’
— _ 9 6.0
X(0.0)
AB length = 6.32
AC length=6
BC length = 2
(40 + 36 + 4) + (2 x 6.32 X 6)
0.95
cos '(0.95)
18.43°

v

3) A

/! C(6,0)
200

AB length = 11.66
AC length=6

BC length = 10
(136 + 36 + 100) = (2 x 11.66 x 6)
0.51

cos'(0.51)

59.04°

v

2) A

2.6

/
/
!

' C(2,0
Ko
AB length = 6.32
AC length=2
BClength=6
(40 + 4+ 36) + (2% 6.32x 2)
0.32
cos'(0.32)
71.57°

v

4) A

, c(8, 0)
A(0,0) *

AB length = 12.04

AC length=8

BC length=9
(145+64+81) + (2% 12.04 % 8)
0.66

cos'(0.66)

48.37°

v

Answers
1. 18.43°
2. [1.57°
3. 959.04°
s 48.37°
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JL_

Applying the Law of Cosines Name:

Usethelaw of Cosinesto find the point B'sanglerelativeto point A.

1) A

Suoy

v

260

v

2) A

v

v

Answers
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Applying the Law of Cosines Name:

Answer Key

Usethelaw of Cosinesto find the point B'sanglerelative to point A.

l) A
_Suory
¢(10,0)
[ @ >
A(0,0)
AB length = 10.2
AC length =10
BC length = 2

3)

(104 + 100 + 4) + (2 x 10.2 x 10)
0.98

cos (0.98)

11.31°

. C(7,0

[ O

A(0.0)

AB length = 9.9
AClength=7

BC length=7

(98 + 49 + 49) + (2 X 9.9 x 7)
0.71

v

2) A

4)

/' C(4,0)

A0.0)

AB length = 9.85

AC length=4

BClength=9

(97 + 16 + 81) + (2 x 9.85 x 4)
0.41

cos'(0.41)

66.04°

v

5.0

7
7
7
7
7

, c(5,0)

[ Cr

A(0,0)

AB length = 7.81
AClength=5

BClength=6

(61+25+36) ~ (2x 7.81%x5)
0.64

v

Answers

11.31°

66.04°

45°

50.19°

cos'(0.71) cos'(0.64)
45° 50.19°
1-4 |75(50|25] 0
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Applying the Law of Cosines

Name:

Usethelaw of Cosinesto find the point B'sanglerelativeto point A.

1) A

v

v

2) A

v

v

Answers
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Applying the Law of Cosines Name:

Answer Key

Usethelaw of Cosinesto find the point B'sanglerelative to point A.

l) A

7
7
4
7

56,7

0 c(8, 0)

A(0,0) *

AB length = 10.63
AClength=8

BClength=7

(113 + 64 + 49) + (2 x 10.63 x 8)
0.75

cos'(0.75)

41.19°

3) A

~N
=L
v

X(0,0)
AB length = 7.28
AClength=7

BC length =2
(53+49+4)+(2x7.28x7)
0.96

cos'(0.96)
15.95°

2) A

v

AB length = 3.16
AClength=3
BClength=1
(10+9+1)+(2x3.16 x 3)
0.95

cos '(0.95)

18.43°

4) A

. C(7,0)
A0

AB length = 10.63
AClength=7

BC length =8

(113 + 49 + 64) = (2 x 10.63 x 7)
0.66

cos'(0.66)

48.81°

v

Answers
1. 41.19°
2. 1843°
3, 15.95°
4 48.81°
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Applying the Law of Cosines

Name:

Usethelaw of Cosinesto find the point B'sanglerelativeto point A.

Answers

1) A 2) A
2.9
Rey
[ > = >
A(0,0) A(0,0)
3) 4 4) A
B _ _ - - _ _ _ -
-o(7,3 -
Phe - i (7 ) - §(5 ) 2)
A(0,0) > A(0,0) >
1-4 |75(50(25| O
[ M ath ] www.CommonCoreSheets.com 4




-

Applying the Law of Cosines Name:

Answer Key

Usethelaw of Cosinesto find the point B'sanglerelative to point A.

l) A

s2.9

1
1

{ ce.o

A(0,0)

AB length = 8.25

AC length=2

BC length = 8
(68+4+64)+(2x825x%2)
0.24

cos'(0.24)

75.96°

3) A

-
-
-

-

_- ’§ (7/1/3)

v

.- (7,0

A0

AB length = 7.62
AClength=7

BC length=3
(58+49+9) + (2x 7.62 X 7)
0.92

cos'(0.92)

23.2°

v

2) A

B
---""C
L g

v

A(0,0)
AB length = 9.22
AClength=9

BC length = 2

(85 +81+4) + (2% 9.22 % 9)
0.98

cos'(0.98)
12.53°

4) A

- E;ES ,’ég
|-cBio
A(0,0)
AB length = 5.39
AClength=5
BC length=2
(29+25+4) + (2% 5.39%5)
0.93
cos'(0.93)
21.8°

v

Answers
1. (5.96°
2. 12.53°
3 23.2°
4. 21.8°
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Applying the Law of Cosines

Name:

Usethelaw of Cosinesto find the point B'sanglerelativeto point A.

1) A
2.9
A(0.0) >
3) A
56,9
A(0,0) >

2) A
’___,4'3(1072)”
A(00) g
4) A
/9(’ 0,9)
X(0.0) >

Answers
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Applying the Law of Cosines

Name:

Answer Key

Usethelaw of Cosinesto find the point B'sanglerelative to point A.

l) A

, c(8, 0)

A(0,0) *

AB length = 12.04
AClength=8

BC length=9

(145 + 64 + 81) + (2 x 12.04 x 8)
0.66

cos '(0.66)

48.37°

3) A

56,9

/
/

S C(5,0)

[ O

2(0.0)

AB length = 7.81
AClength=5

BClength=6

(61 + 25+ 36) + (2 x 7.81 x 5)
0.64

v

2) A
__,,Bio,'ég”
| cl10:0)
A(0,0) ’
AB length = 10.2
AC length = 10
BC length = 2

4)

(104 + 100 + 4) + (2 x 10.2 x 10)
0.98

cos'(0.98)

11.31°

I C(10, 0)
[ s

A(0.0)

AB length = 13.45

AC length = 10
BClength=9

(181 + 100 + 81) + (2 x 13.45 x 10)
0.74

»

Answers
1. 48.37°
2. 11.31°
3. 50.19°
s 41.99°

cos'(0.64) cos'(0.74)
50.19° 41.99°
1-4 [75[(50|25| 0
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Applying the Law of Cosines Name:

Usethelaw of Cosinesto find the point B'sangler

elativeto point A.

Answers

1) A 2) A
g - 3q0, 5
_.*(7,3) P
X(0.0) > X(0.0) g
3) 4 4) A
26,9
%672
A(0,0) > A(0,0) >
14 |75]50[25] 0
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ﬂh Applying the Law of Cosines Name:. Answer Key

Usethelaw of Cosinesto find the point B'sanglerelative to point A. Answers
o
N 4 ) 4 . 232
2. 26.57°
3. 48.37°
B .- s 1843°
B .- _#(10,5)
_.#(7.3
.-~ c@.0 . L C(10,0) R
A(0,0) A(0,0)
AB length = 7.62 AB length = 11.18
AC length=7 AC length = 10
BC length = 3 BClength=5
(58 +49+9) + (2x7.62%x7) (125 + 100 + 25) + (2 x 11.18 x 10)
0.92 0.89
cos'(0.92) cos'(0.89)
23.2° 26.57°
3) A 4) A
<69
P %s ,’ég
v s8.9 b §6.0 >
A(0,0) A(0,0)
AB length = 12.04 AB length = 6.32
AC length=8 AClength=6
BClength=9 BC length=2
(145 + 64 + 81) + (2 x 12.04 x 8) (40+36+4) +(2x6.32%6)
0.66 0.95
cos'(0.66) cos'(0.95)
48.37° 18.43°

1-4 [75[(50|25| 0
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Applying the Law of Cosines

Name:

Usethelaw of Cosinesto find the point B'sanglerelativeto point A.

v

v

1) A 2) A
2.5 ,

X(0.0) > X(0.0)

3) A 4) A
84,9

/ %25

[ > 4

A(0.0) 2(0.0)

Answers
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Applying the Law of Cosines

Name:

Answer Key

Usethelaw of Cosinesto find the point B'sanglerelative to point A.

l) A

-
-
-

Be's

- C(9, 0)
A(0,0) *
AB length = 10.3
AClength=9

BClength="5

(106 + 81 + 25) + (2 x 10.3 x 9)
0.87

cos'(0.87)

29.05°

3) A

.9

/
/
/
/
/

/' C(4,0)

200

AB length = 8.94

AC length =4

BC length=8

(80 + 16 + 64) = (2 x 8.94 x 4)
0.45

cos'(0.45)

63.43°

v

2)

4)

A

’

Sdo,7)

- C(10, 0)
A(0,0) *

AB length = 12.21

AC length = 10
BClength=7

(149 + 100 + 49) = (2 x 12.21 x 10)
0.82

cos'(0.82)

34.99°

14

%25

'+ C(2,0
o
AB length = 5.39
AClength=2

BClength=5
(29+4+25)+ (2% 5.39%2)
0.37

cos'(0.37)

68.2°

v

Answers
1. 29.05°
2 34.99°
3 6343°
4. 68.2°
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C:h Applying the Law of Cosines

Name:

Usethelaw of Cosinesto find the point B'sanglerelativeto point A.

1) A 2) A
/ B/
/ ®
82,5 8.0
[ » [ 4
A(0,0) A(0,0)
3) A 4) A
’ §/(/5 1 4) - ’§(g !/4)
A(0,0) > A(0,0) >

Answers
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Applying the Law of Cosines

Name:

Answer Key

Usethelaw of Cosinesto find the point B'sanglerelative to point A.

l) A

8.5

/(2,0

A(00)
AB length = 5.39

AC length=2

BClength="5

(29 + 4+ 25) + (2x 5.39 x 2)
0.37

cos'(0.37)
68.2°

v

7

e

7

e

56, 4)

.27 (5,0

K00

AB length = 6.4
AClength=5

BC length=4

(41 + 25+ 16) + (2 X 6.4 x 5)
0.78

cos'(0.78)

38.66°

v

2) A

8.6

/
/

I ci.9

A(0,0)

AB length = 6.71
AClength=3

BClength=6
(45+9+36)+(2%x6.71 % 3)
0.45

cos '(0.45)

63.43°

v

4) A

-
-

Bwly

- C(9, 0)
A(0,0) *

AB length = 9.85

AC length=9

BC length=4

(97 + 81+ 16) +~ (2x 9.85%x 9)
0.91

cos'(0.91)

23.96°

v

Answers
1 68.2°
> 63.43°
3. 38.66°
4 23.96°

[ Math ] www.CommonCoreSheets.com 8
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Applying the Law of Cosines

Name:

Usethelaw of Cosinesto find the point B'sanglerelativeto point A.

1) A

2) A

v

v

v

v

Answers
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Applying the Law of Cosines Name:

Answer Key

Usethelaw of Cosinesto find the point B'sanglerelative to point A.

l) A

3)

S0

/
/

/' C(4,0)

A0.0)

AB length=7.21

AC length = 4

BClength=6

(52 + 16 + 36) + (2 x 7.21 x 4)
0.55

cos '(0.55)

56.31°

v

%32
.-"C(3,0)
@ ©,
A(0,0)
AB length = 3.61
AClength=3
BC length =2
(13+9+4) + (2% 3.61x3)
0.83

v

2) A

4)

5.9

'C(1, 0
/3?'0(,0> :
AB length = 4.12
AClength=1

BC length = 4
(17+1+16)+ (2x 412 x 1)
0.24

cos'(0.24)
75.96°

v

Yu.5

/" C(4,0)

[ 2 C

A(0,0)

AB length = 6.4
AClength=4

BClength=5
(41+16+25)+ (2x6.4x%4)
0.62

v

Answers

56.31°

75.96°

33.69°

51.34°

cos'(0.83) cos'(0.62)
33.69° 51.34°
1-4 [75[(50|25| 0
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C:h Applying the Law of Cosines Name:

Usethelaw of Cosinesto find the point B'sanglerelativeto point A.

1) A 2) A
B, -~
#0.6) %a.e
X(0.0) > A(0.0) g
3) A 4) A
? 3,8
B/’ 1 ( )
/. (7 1 6) II
// : ‘I ;
A(0,0) A(00)

Answers
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ﬂh Applying the Law of Cosines Name:. Answer Key

Usethelaw of Cosinesto find the point B'sanglerelative to point A. Answers
(o]
b 1 ) 1 L 33.69
) »  56.31°
. s 40.6°
B -~ B/’ o
. #(9,6) 4(4,6) 4 69.44
c’/ 9(9’0) > cll 9(4’0) >
A(0,0) A(0,0)
AB length = 10.82 AB length=7.21
AClength=9 AClength=4
BClength=6 BC length=6
(117 + 81 + 36) + (2 x 10.82 x 9) (52 + 16 + 36) + (2 x 7.21 x 4)
0.83 0.55
cos'(0.83) cos'(0.55)
33.69° 56.31°
3) A 4) A
3.8
B// II ( )
/. (7 ’ 6) II
(7,0 /' C(3,0)
> s >
AO00) A(0,0)
AB length = 9.22 AB length = 8.54
AClength=7 AClength=3
BClength=6 BC length=8
(85 + 49 + 36) = (2% 9.22 x 7) (73+9 + 64) + (2 x 8.54 x 3)
0.76 0.35
cos'(0.76) cos'(0.35)
40.6° 69.44°

1-4 [75[(50|25| 0
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